o veRmMAE~R IR~

%28 E KNofE HER2
A
a=h DL x

a 1
= —a:10 =5+10 =-
O == 9

t=30
o L 2, 2 _ lxaxz 4
@ —t*=(—1Dxtxt =( 1)><(3)><(3) 3 -
2 2 9 7
@178 =578 =5y 73
b=—4 DL x
8 8
® b* =(—4) X (—4) X (—4) =—64
® —b* =(—1)XbXb =(—1)X(—4) X (—4) =—16
@ (=b)—2b ={(—=1) X (=4) X (=4)}—2X(—4) =—16+8 =—8
b= o & X
3, 6X3 _ 9
—6b =(—6) Xb :(—6)><(—Z) = =
s oxp —(_Yx (Y 23 8
@7 =bxb = (=D x (=) =137 T
3 2% 3 3 3 2 5
2b—1 =2Xb—1 :2X<_Z)_1 =—"—1=—5-1=—7—>=—

© 2013 Japan CableCast Inc.
BHINTVIREE. Sr/AVr—TLFr 2 FHREISES - BELELOTT.
ERICHESATVAEME LY BELAVEECROIZSHACESY,

Frrzn 700D



